
Basic Build 

1. Check you have all the parts: 

 Agobo ready built main board 

 2 rear wheels 

 Front caster bag containing: 

 Caster plastic housing and top cover 

 Main ball caster 

 4 mini ball-bearings 

 2 short screws 

 2 long screws 

 2 spacers (3mm) 

 5mm thick acrylic mount 

 Battery holder clip 

 20mm countersunk screw 

 M3 nut 

 4 x 1mm female-female pillars 

 8 x 6mm screws 

 Battery with connector/charge cable 

  

2. Fit the Front Caster 

This is a fiddly task, but it is the only one. Once it is done, the rest is easy 

 

Put the main ball in the housing, and the small balls into the “corners” as shown above 

  

http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_02.jpg


 

Put on the cover plate and hold it all together with your fingers, as you place it on the PCB 

  

 

Then use the small (10mm) screws to fix it to the PCB. 

That wasn’t so hard, right? (NB. If using the PlusPlate™, or wiring onto the replicated header 

pads, you will need to use the 3mm spacers and the longer screws – this is a much trickier 

operation) 

  

3. Fit the Battery Holder 

 

http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_03.jpg
http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_04.jpg
http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_05.jpg


You will need the 5mm small acrylic plate, 20mm countersunk screw, M3 nut and the battery 

clip 

  

 

Remove the backing plastic from the acrylic plate – it should be bright and transparent 

Push the screw through from the top of the battery clip, through the acrylic plate, through the 

PCB and tighten the M3 nut underneath 

  

4. Add the Mounting Pillars for the Pi 

 

You will need the 4 female-female pillars (11mm) and the 8 screws (M2.5, 6mm) 

  

http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_06.jpg
http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_07.jpg


 

Screw the 4 pillars into the PCB in the positions shown 

  

5. Add the Pi and Battery 

 

Push on your Raspberry Pi A+ 

  

 

Fit the remaining 4 small screws to hold the Pi in place (if you really want to!) 

Fit the battery and off you go!! 

http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_08.jpg
http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_09.jpg
http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_11.jpg


—— 

  

Using the Acrylic Plate 

 

1. Check you have all the parts 

 Acrylic plate showing the 4tronix and Agobo logos 

 4 male-female pillars (5mm) 

 4 nylon washers 

 16mm countersunk screw 

 M3 nut and battery clip from base build 

  

2. Add the pillars 

 

Screw the 5mm male-female pillars in instead of the 6mm screws to hold the Raspberry Pi 

A+ 

  

3. Fit the Acrylic Cover 

http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_12.jpg
http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_13.jpg


 

 Peel off the protective covering from the acrylic plate (now it is nice and shiny!) 

 Screw the battery clip to the offset hole in the acrylic using the 16mm screws and M3 nut 

(the 5mm spacer acrylic piece is not required) 

 Now use the 6mm screws (from the base build) with the nylon washers to hold the acrylic 

cover to the small pillars 

 All done! 

  

—– 

Using with the PlusPlate 

1. Check you have all the parts 

 

To attach the PlusPlate you will have to do some light soldering. 

First, fit the 2x20pin male headers to the main board as shown above 

  

2. Re-Attach the Front Caster with spacers 

http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_15.jpg
http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_16.jpg


 

Note: This is really tricky – take it carefully and patiently. There is a knack to doing it, which 

is described below, but it takes a few attempts before you can do it quickly. 

You will need the longer screws and the 3mm spacers found in the bag with the front caster. 

 Prepare the front caster as before and hold in one hand 

 Hold the main PCB vertical (ie. resting on the back end (USB connector end) 

 Put one long screw through the hole in the PCB 

 Put a spacer over the screw so that it rests on it – remember, the screw is horizontal at this 

point. Gravity is your friend. 

 Screw into the caster assembly with the other hole of the caster upwards(careful, though as it 

is easy to over-tighten) 

 Now turn the caster into the correct position, and push the other spacer into position 

 Then, screw the second screw in. 

 Now, you can have a cup of coffee, or glass of wine, or whatever. You deserve it! 

  

3. Add the Mounting Pillars 

 

Use the 4 Male-Female 11mm pillars and screw each on in, holding the Pi in place 

  

4. Prepare the PlusPlate 

http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_17.jpg
http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_18.jpg


 

Solder the 40-way female header to the bottom of the PlusPlate 

 

Push in the 40-way extended header 

 

  

5. Connect the PlusPlate and Battery 

http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_19.jpg
http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_20.jpg
http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_21.jpg


 

Push the PlusPlate with extended headers into the male headers that you soldered onto the 

main PCB 

  

 

Fix the PlusPlate with the 6mm screws (from the base build) 

Add the battery clip to the PlusPlate using the 12mm countersunk screw 

  

 

Fit the battery and off you go! 

  

 

http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_22.jpg
http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_23.jpg
http://4tronix.co.uk/blog/wp-content/uploads/2015/01/agb10_24a.jpg

